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mEARE miEs MEAE s | | T p T EREMEMO
dtimE ALIRAILR ERALIRED —IRBE 12 0.34 0.15 ~ 0.98
JtimE AR AL X ERRE —HRIRE 12 0.12| ( < 0.014 ) ~ 0.23
g ALIRTHEIX BRELYE— —IRBE 12 0.15 ( < 0.014 ) ~ 0.29
dtiEE a0 B/ AER — IR 12 0.11 0.070 ~ 0.24
dtimE &N EENG) —RBE 12 0.13 0.075 ~ 0.30
dtiEE a0 BHLER — IR 12 0.12 0.070 ~ 0.29
dbimE Frm BoHAIER —RBRE 12 0.17 0.093 ~ 0.37
ERR HEHH RINERD —ARIR R 12 0.20| ( 0.021 ) ~ 0.47
EHE I\FH INFINERB —IRBE 12 0.12 0.071 ~ 0.17
EFR BEh EEHB —RIRE 12 0.10 0.068 ~ 0.16
EFR =2am 1EETD —RBE 12 0.15 0.12 ~ 0.17
EFR KiEm ¥)IBTR —iRIBIE 12 0.13 0.10 ~ 0.20
EFR et JEHFHB —RBE 12 0.22 0.13 ~ 0.53
EFR —F HER —iRIBIE 12 0.14 0.12 ~ 0.18
EHE & T ERIFX RBED —IRBE 12 0.12 0.052 ~ 0.22
BEHE 45 F AR K 5T [R BT KARBRTE —RIRE 12 0.19 0.1 ~ 0.37
=EHE i EH AR A T EREER —RBE 12 0.1 0.04 ~ 0.16
HER KT KER —RIRE 12 0.1 0.064 ~ 0.21
MER BEH MR —RBE 12 0.090 0.063 ~ 0.12
W8 SEET EREER —HRIREE 12 0.21 0.11 ~ 0.43
W IR S0P EAIERBD —IRBE 12 0.26 0.091 ~ 0.48
BER A BRI AR —RIRE 12 0.1 0.047 ~ 0.15
BER LWhEH BB —RBE 12 0.12 ( 0.042 ) ~ 0.22
RWE KET KEBNBD —RIRE 12 0.046| ( < 0.028 ) ~ 0.18
TG B3 By%E —RBE 12 0.044| ( < 0.028 ) ~ 0.16
TWE TEh THRER —RIRE 12 0.094| ( < 0.028 ) ~ 0.39
FHE BIg™ BISFH (HRER) —IRBE 12 0.065| ( < 0.028 ) ~ 0.23
AR FHET FNER —RRE 12 0.19 0.083 ~ 0.39
WmARE [N KETE —RBE 12 0.16 ( 0.10 ) ~ 0.22
AR KEART WARTIMAFE — IR 12 0.16] ( 0.10 ) ~ 0.20
BER BTHE™ BERR —IRBE 12 0.26 0.15 ~ 0.47
BER [l PEARME —RRE 2 0.22 0.21 ~ 0.24
BER [Slbn BEXA —IRBE 2 0.22 0.22 ~ 0.23
BER AHET KE—HEB —iRIBIE 6 0.18 0.13 ~ 0.24
BER BAH BRE—KE —RBE 6 0.16 0.11 ~ 0.22
BER Reph RPFE1—RB — RS 6 0.16 0.12 ~ 0.22
BHER SWVEFmAR ERAER —IRBE 12 0.20 0.077 ~ 0.40
BER SWEFHAER KERERH —RRE 12 0.18 0.082 ~ 0.35
BHER SWVeEFHHRREK REREHEEI Y- —RBE 12 0.19 0.082 ~ 0.33
BER SVEFATUHTIR SWEFHRAAIER —iRIBIE 12 0.19 0.079 ~ 0.40
BER SWVEETEHRK EWAER —RBE 12 0.15 0.067 ~ 0.33
BER JIlgm JIEHIEE R —RRE 12 0.14 0.078 ~ 0.22
BHER g JIBHEREER —IRBE 12 0.16 0.080 ~ 0.29
BER At EaB —RIRE 12 0.16 0.10 ~ 0.21
BER g NOmZHER —RBE 12 0.19 0.070 ~ 0.41
BER Jgm JNOmEFRER —iRIBIE 12 0.19 0.072 ~ 0.40
BER FriR™ LEFRER —RBE 12 0.14 0.083 ~ 0.22
BER AR RARAIER —RIRE 12 0.15 0.082 ~ 0.26
BER hnZEH BENFERCE —RBRE 12 0.15 0.10 ~ 0.22
BHER ExAITL EXAING] —iRIBIE 12 0.24 0.13 ~ 0.57
BER FAEH B Em &R —RBE 12 0.16 0.10 ~ 0.25
BER Bam AR —RIRE 12 0.15 0.088 ~ 0.25
FER FEHRE FEHKER —IRBE 12 0.076| ( 0.020 ) ~ 0.15
FER FEHEEX BERoE —RIRE 12 0.11| ( < 0012 ) ~ 0.29
FER ¥ HRFETR —RBE 12 0.16 0.12 ~ 0.24
FEE Il HIFEE — R IR 12 0.19 0.085 ~ 0.40
FER vt inE=RE R —RBE 12 0.16 0.073 ~ 0.25
FER SR EILBTRE —iRIBIE 12 0.16 0.13 ~ 0.20
FER WEm WFIRAR —RBE 12 0.53 0.12 ~ 1.6
FER RETH REMEEE —iRIBIE 12 0.19 0.12 ~ 0.25
FER mR™ BARAER —RBE 12 0.28 0.056 ~ 0.43
FER BT BERERR —RRE 12 0.16 0.13 ~ 0.22
FER Ezh ERARRB —RBE 12 0.23 0.14 ~ 0.48
HRE FRE P REEEER —ARIR R 12 0.18 ( 0.07 ) ~ 0.26
HRH FEX ERRRHER —RBE 12 0.23 ( 0.10 ) ~ 0.34
HRE KHK KHREHAE —RIRE 12 0.22 ( 0.09 ) ~ 0.40
HERH HERX HASXEARD —RBE 12 0.22 ( 0.10 ) ~ 0.42
HRE Felll X )R ETFERER —iRIBIE 12 0.23 0.066 ~ 0.30
HERH B RIEXAER —RBE 12 0.25| ( 0.13 ) ~ 0.34
R BEX BERAHARE —RRRE 12 0.25[ ( 0.12 ) ~ 0.47
HERH RBIR RARFBEHHB —RBE 12 0.21 ( 0.09 ) ~ 0.41
HRE IR SIF)IREFTIRR —RIRE 12 0.27| ( 0.11 ) ~ 1.4
HRH INEFH REFHB —RBE 12 0.13 ( 0.06 ) ~ 0.20
HRE NEFH FRETE —RIRE 12 0.14| ( 0.06 ) ~ 0.22
HERH INEFHT INEHTAREF —RBE 12 0.18 ( 0.08 ) ~ 0.26
R RKHH RAXHNTRERER —ARIR 12 0.18 ( 0.09 ) ~ 0.36
HRH 7S ERREM BEEERRER —RBE 12 0.12 ( 0.06 ) ~ ( 0.19
BRINR  |EETREK REZRNERB — RS 12 0.17 0.094 ~ 0.29
BRINE TR BRI —IRBRE 12 0.19 0.076 ~ 0.38
#BEIR  |IEHPRE FRAIER —ARIRE 12 0.22 ( 0.12 ) ~ 0.37
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mEARE miEs MEAE s | | T p T EREMEMO
BRINE  IBHEER SEAER —IRBE 12 0.16 ( 0.09 ) ~ 0.24
ARINE  |EEERHPRK MR FRIER —ARIR R 12 0.15 0.058 ~ 0.33
HRINE  |EEET BAETBAERLERE —IRBE 12 0.15 0.089 ~ 0.31
#RIR  |FHH BINERB —RRE 12 0.15 0.080 ~ 0.26
#RINE  |ERE BRRMEFR —RBE 12 0.20] ( 0.10 ) ~ 0.38
#RNE  |NERERH MNARTRFTE —RRE 12 0.094 0.033 ~ 0.17
BN S0 EHHERFB —RBRE 12 0.082| ( 0.022 ) ~ 0.16
#RINR  |EXH EARTREAB — RS 12 0.11 0.053 ~ 0.17
HRE FRHREX KB —IRBE 12 (0.16) 0.091 ~ 0.24
[grmm FRmIEK 2ER — (RS 12 (0.12) 0084 ~ 0.15
FRE KREH REIEEKR —RBE 12 0.074| ( 0.029 ) ~ 0.14
BWLR B BILZEB —RRRE 6 0.32 0.096 ~ 0.69
BWLE faEh AER —RBE 12 0.1 ( 0.08 ) ~ 0.26
=R Sk NEREWLB —RIRE 12 0.15) ( 0.09 ) ~ 0.29
AR tEM tERAER —IRBE 5 0.12 ( 0.06 ) ~ ( 0.22
A)IIE IR IMNBRITER —HRIRE 5 0.12 ( 0.06 ) ~ 0.16
BHE B/HM BHE —RBE 12 0.13 0.093 ~ 0.19
BHE HEH MAHH —iRIBIE 12 0.12 0.092 ~ 0.18
e B RF ARELRAER —RBE 12 0.12 ( 0.011 ) ~ 0.29
WRER BEtrEEM EHAER —ARIRE 12 0.21 ( 0.028 ) ~ 0.29
e XA™ KXARER —IRBE 12 0.099] ( 0.011 ) ~ 0.18
RBER REH REREHRFB —RIRE 12 0.21 0.14 ~ 0.38
RHR &M &/ FHAER —RBE 12 0.63 ( 0.09 ) ~ 1.4
RER AT WARR —ARIR R 12 0.18 0.088 ~ 0.28
RHR LmEH LHEB —RBE 12 0.37 0.16 ~ 0.64
RER HmEAh i) —iRIBIE 12 0.24 0.094 ~ 0.52
RHR FIH FIE —IRBE 12 0.25 0.11 ~ 0.33
Ik B IR Ik B Ik B i 4L BRI E B —HRIRE 12 0.19] ( 0.07 ) ~ 0.56
IR B IR B FRAIER —RBE 12 0.23 ( 0.07 ) ~ 1.0
IR ER KiEH |BKIEH B AR & A ER — RS 6 0.11 0.040 ~ 0.23
FfE R ERfEI T AKX TUERXATAER —IRBE 10 0.1 0.084 ~ 0.16
FrfE R R ERX AR/ NEREIE B —RRE 12 0.14 0.095 ~ 0.20
FfER ERREI T ER T X REFHFERAER —IRBE 12 0.1 0.068 ~ 0.14
FRER FREHEX HEANRNER —iRIBIE 12 0.54 0.10 ~ 39
EfER ERfE T AKX BKERE—NERAER —RBE 12 0.12 0.085 ~ 0.17
FRER SEMTHRX JLEBRIE D —RIRE 12 0.15[ ( 0.08 ) ~ 0.30
FfE R SAH SATREAH —IRBE 12 0.33 ( 0.09 ) ~ 1.9
B Bt ER/NERD —RIRE 12 0.30 ( 0.10 ) ~ 0.51
EfER E@EH BEHERFB —RBE 12 0.33 ( 0.09 ) ~ 15
FER #IH BIH&ETD —ARIR R 12 0.23 ( 0.05 ) ~ 0.97
EfER i RATRIBD —RBE 12 0.23 ( 0.08 ) ~ 0.70
FHR AHETTFRRE EHREEER —RRE 12 0.16 0.064 ~ 0.24
ZHE EHEEHHIIR EEXFR —IRBE 12 0.23 0.18 ~ 0.32
EHME 215t KB —ARIR R 12 0.38 ( 0.057 ) ~ 1.4
ZHE 21Eh ZNB —RBE 12 0.29| ( 0.046 ) ~ 0.64
EHMR ] By 7 fEETIRERELIS— —iRIBIE 12 0.17 0.097 ~ 0.24
ZHE 2@h &R (= $FET) —RBE 12 0.13 0.077 ~ 0.21
FHR N MNEERB — IR 12 0.10 0.073 ~ 0.12
=ZER m A LESKAER —RBRE 12 0.13 0.068 ~ 0.24
=) P9 A mETEESREER —RIRE 12 0.11 0.068 ~ 0.18
HABRT HABREE A/NER —RBE 12 0.20 0.10 ~ 0.40
B3 ZERRATE —RIRE 12 0.17 0.10 ~ 0.28
FEH FERrERER —IRBE 12 0.18 0.12 ~ 0.35
Kigth RHEB (k) —RIRE 12 0.17| ( 0.08 ) ~ 0.56
Xz EHFHREVE— —RBE 12 0.17| ( 0.05 ) ~ 0.26
RiEH RER —RRIRE 12 0.13] ( 0.08 ) ~ 0.19
Hizh HER —RBE 12 0.21 ( 0.07 ) ~ 0.84
BEh BREERTE —RIRE 12 0.10 ( 0.05 ) ~ 0.16
FHELH FELB —RBE 12 0.12 ( 0.04 ) ~ 0.18
REIRRE &R —iRIBIE 12 0.27 0.15 ~ 0.45
At BB A L AT AHILE —RBE 12 0.21 0.11 ~ 0.28
KBRHRMAX ERENG] —iRIBIE 12 0.29 0.097 ~ 0.54
KB FEEFX EBTRERRD —RBE 12 0.16 0.047 ~ 0.37
KR4 X Bl hERB —HRRE 12 0.17 0.048 ~ 0.40
RHERX ENER —RBE 12 0.17 0.082 ~ 0.42
FAT FHMAFRAE —RIRE 12 0.23 0.087 ~ 0.61
W wATALEEER —RBE 12 0.26 0.088 ~ 0.68
[=Lh BHER —iRIBIE 12 0.18 0.092 ~ 0.31
BiEm BIEMHEBER —RBE 12 0.18 0.099 ~ 0.37
wAH BAHERFE —ARIR R 12 0.18 0.078 ~ 0.38
BT NEREFB —RBE 12 0.18 0.081 ~ 0.37
SRIEHH EHFPERD —ARIR R 12 0.26 0.087 ~ 0.61
EEAT =EAHRA —RBE 12 0.19 0.093 ~ 0.31
BRIh BRIMEHB —RRE 12 0.23 0.11 ~ 0.44
il BHFHERAB —RBE 12 0.20 0.11 ~ 0.34
RKRH BRELVI-B —RIRE 11 0.34 0.20 ~ 0.54
B (1) VIV)S= A#EoA— —RBE 12 0.22 0.095 ~ 0.51
HWEHREAX ERXKAER —RIRE 12 0.18 0.015 ~ 0.30
METHAEBRX AEXRKAER —IRBRE 12 0.20 0.12 ~ 0.33
MEMERX BEHAKAER — RS 12 0.20 0.015 ~ 0.43
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EER IERRT I\RBIER —IRBE 12 0.20 0.12 ~ 0.32
EER e FBrE —RIRE 12 0.30 0.082 ~ 0.75
EER BEH AARELEEVE— —IRBE 12 0.19 0.11 ~ 0.36
EER wEh BEHEHE —ARIRE 12 0.27 0.090 ~ 1.1
EER WA MATHRETR —RBE 12 0.46 0.24 ~ 0.89
EER 2/ ZRHEFE —RIRE 12 0.24] 0.13 ~ 0.38
EER G mEB —RBRE 12 0.29 0.11 ~ 0.69
EER =@ ZHH&RFB —ARIR R 7 0.20| 0.15 ~ 0.31
EER ek} [elobik ;i) —IRBE 12 0.22 0.13 ~ 0.34
FRE =R FEREPER — IR 6 0.23 0.13 ~ 0.32
=RE =RM FEHAKELAER —RBE 12 0.21 0.11 ~ 0.38
ERE KEH KERF —ARIR R 12 0.086| ( < 0015 ) ~ 0.20
AMPLE RIS RAEHAET —RBE 12 0.15 0.054 ~ 0.28
IR IR H SRS TV —RIRE 12 0.14] 0.076 ~ 0.30
AMIWLE  |EEH BREATRABD —IRBE 12 0.15] ( < 0.008 ) ~ 0.64
BHR BEt B BEURREAB —RRE 12 0.18 0.12 ~ 0.28
BERE KFH BREXFREFR —RBE 12 0.19 0.10 ~ 0.29
BHR rEM BERRASREHB —RRE 12 0.19 0.10 ~ 0.28
SRE I BRG] —RBE 12 0.11 0.058 ~ 0.15
BRE RIREEROSE  |ERRES —iRIBIE 12 0.17 0.070 ~ 0.33
LR FEl LU 3b B/ —IRBE 12 0.15 0.082 ~ 0.30
il LI R BHH BRENR —ARIRLE 12 0.22 0.082 ~ 0.50
LR e Ed 0] —RBE 12 0.13 ( 0.027 ) ~ 0.42
LER EEMER FHONERBER —RRE 12 0.24 0.098 ~ 0.47
LER EETRERRX RIERARRAAER —RBE 12 0.20 0.091 ~ 0.37
LESR A BENMNERR —RIRE 12 0.17 0.094 ~ 0.33
LER Bm B/INERB —IRBE 12 0.16 0.080 ~ 0.25
LR RIE&H RIEBAEFNFERB —ARIRLE 12 0.12 0.035 ~ 0.22
[il=]-3 TRi™ TETRERER —RBE 12 0.14 0.084 ~ 0.26
wog FEH FEHHRDINHEIA— — RS 12 0.20 0.058 ~ 0.75
[il=]-3 i FEREILEVI-B —IRBE 2 0.15 0.13 ~ 0.17
[il]=]} EEH REMNERE —ARIRLE 12 0.77 0.080 ~ 28
[il=]-3 Ammh AR —IRBE 12 0.23 0.073 ~ 0.51
BER B 185 —ARIRLE 12 0.30 0.080 ~ 11
F)R Em ERmAKXIIIZT VA~ —RBE 12 0.17 0.068 ~ 0.24
FIR AgH ABHEHB — RS 12 0.22 0.14 ~ 0.31

i WEHTHRATD —IRBE 12 0.28 0.12 ~ 0.71

AT BARR —ARIR R 6 0.13 0.058 ~ 0.23

FHET g %0] —RBE 12 0.10| ( < 0.008 ) ~ 0.28

s NTRBE —RRIRE 6 0.12 0.040 ~ 0.27

AT ABEEERR —RBE 12 0.19 0.12 ~ 0.33

E )1 EBLDET BFHEERITER —ARIR R 12 0.24 0.16 ~ 0.30

EAMmINERER |ERESRUB —IRBE 12 0.17 0.062 ~ 0.60

LY B —ARIR R 12 0.14 0.070 ~ 0.30

BEREHEEX HER —RBE 12 0.15 0.073 ~ 0.29
1aRE R EEHRER 212 — RS 12 0.15 0.11 ~ 0.33
1ERE KERT ERAXELARRHEAE) —RBE 12 0.1 0.054 ~ 0.16
1B Rgh ReB —ARIR R 12 (0.10) 0.037 ~ ( 0.34
EER EEH EER —RBRE 12 0.1 0.057 ~ 0.26
EER REEH KT —RRE 12 0.11 0.058 ~ 0.22
RIBE RIGH INEXFHB —RBE 6 0.14 0.067 ~ 0.23
RIBR Edanil RERRAER —RRE 6 0.19 0.085 ~ 0.30
RIBR ET = %5t B R RRAIE AT —IRBE 12 0.13 0.067 ~ 0.24
EAR REXT KL HERAT —ARIRLE 12 0.14 0.054 ~ 0.24
AR E4&H HHREFB —RBE 12 0.12| ( < 0.015 ) ~ 0.30
KR Ko EFhERAER —ARIR R 12 0.12 0.080 ~ 0.23
P fiEh FERETER —RBE 12 0.11| ( < 0.015 ) ~ 0.23
KB BAT FEERRIERT —RIRE 10 0.12| ( < 0017 ) ~ 0.19
HIFE =iEH E T EEE —RBE 12 0.098 0.040 ~ 0.16
IR 1R R SRET SIRETRE HKNEVI—B —RRE 12 0.17 0.10 ~ 0.25
ERER |ERSH HRFB —RBE 6 0.10 0.066 ~ 0.21
ERER |EEMH ERMEERELYI— —RRE 6 0.092 0.056 ~ 0.15
ERER |BST BER —RBE 6 0.1 0.065 ~ 0.15
ERBR |E&FHm BSOFEH&RR — IR 6 0.12 0.079 ~ 0.15
SRR WEH BEHHRLE —RBE 12 0.097| ( 0.020 ) ~ 0.18
ShBR g ShER —RRE 12 0.11] ( 0.04 ) ~ 0.25
SRR et FERBERARATR —RBE 12 0.12| ( < 0.04 ) ~ 0.23
SRR E B A E B 5%:0 F IR EE 1 RERIEFR —RIRE 12 0.10 0.053 ~ 0.19
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ooV L (B4 RE X))

DEFRE it A A wasm | e | O gy TR
JtiEE FLRHAER FEREHA SEEIRED 12 0.19] ( < 0.014 ) ~ 0.45
BEHRR NG REDNFRB RERED 12 0.16 0.10 ~ 0.30
BEFR Bam EamliFREEV - FERED 12 0.13) 0.12 ~ (< 0.19
AFR EEm BEPE—RER RERED 12 0.18 0.12 ~ 0.43
AEFR SALER{E AT {EERET—RER SEEIRED 12 0.13 0.10 ~ 0.20
ERR WAETEREFR ] RERED 12 0.094 0.050 ~ 0.16
BHE HET BEE—-RBRATAER SEERED 12 0.14] ( < 0.003 ) ~ 0.22
EER WL FEB RERED 12 0.10] ¢ 0.014 ) ~ 0.16
BER Loz INGRE)IBTA FHERRD 12 0.16 0.051 ~ 0.25
ESTY s SRERERT RERED 12 0.041] ( < 0.028 ) ~ 0.15
TR AT HAEET SEEIRED 12 0.054] ( < 0.028 ) ~ 0.17
ESTY AT AT AR RERED 12 0.066] ( < 0.028 ) ~ 0.23
AR FEHEN ERENER SEEIRED 12 0.26 0.074 ~ 0.74
AR Al BEERELEY - RERED 12 0.16] ( 0.10 ) ~ 0.22
AR EER RHENFR SEEIRED 12 0.16[ ( 0.10 ) ~ 0.20
HER EILH EINE IR 1) RERED 6 0.17 0.13 ~ 0.22
BHER i EMIEMAmAE FERED 12 0.18 0.12 ~ 0.26
FER FEAPRRE 1BIEF RERED 12 0.15 0.054 ~ 0.37
FER FEMPRE )P SEEIRED 12 0.17 0.044 ~ 0.44
FER MR HRERER RERED 12 0.45 0.18 ~ 0.97
FER mRm BIIERIER SEEIRED 12 12 0.068 ~ 38
FER MR B PR T35 RERED 12 0.89 0.057 ~ 4.6
FER mRm IRy 81 E B SEEIRED 12 2.0 0.052 ~ 98
FER mR J\BBAIER RERED 12 0.64 0.082 ~ 2.9
FER HTET WTERER SEEIRED 11 0.33 0.19 ~ 0.93
BN BETBRRX BRXHABARZRITTR RERED 12 0.19 0.10 ~ 0.30
#wRIE  |[EETRRE PRAKD SEEIRED 12 0.18 0.12 ~ 0.31
BN I )R X KEHAIE R RERED 12 0.22] ( 0.13 ) ~ 0.32
#WENE  [BEARS BETBEVS-5E SEEIRED 12 0.17 0.10 ~ 0.32
BN FiETH I\BBINER D RERED 12 0.21 0.094 ~ 0.43
FaRmIX HUER FERED 12 0.12) 0.086 ~ 0.16
Fh £ FEREL 2 0.089] ( 0.030 ) ~ 0.18
wEm NCE] SEEIRED 12 0.23 0.084 ~ 0.43
Lt BEEBR RERED 12 1.3 0.066 ~ 38
(2 hER FHERRD 12 0.078] ( 0.031 ) ~ 0.15
Y B BRERAR RERED 12 0.16] ( 0.08 ) ~ 0.36
BHE AT RER SEEIRED 12 0.19 0.16 ~ 0.29
1EHE P ZER RERED 12 0.21 0.15 ~ 0.36
RHR RN BRG] FERED 12 0.20 0.094 ~ 0.37
FHIR AEEBTERX EBR RERED 12 0.51 0.20 ~ 2.7
BHR B BKNERD FERED 12 0.41 0.20 ~ 0.65
EHIR AT FANRFER RERED 12 013 0.092 ~ 0.20
BHR R ] FERED 12 0.12 0.063 ~ 0.26
ZER [EEE SERNERAER RERED 12 0.13 0.078 ~ 0.23
BER T KEFEIHDEVE— FERRD 12 0.23[ ( 0.05 ) ~ 0.42
REBRT REBHRX EERBELTYS— RERED 12 0.29 0.13 ~ 0.41
PN KEERHRER FRINERB SEEIRED 12 12] ( 0.021 ) ~ 49
KR AF AIRATHER R BEENERB RERED 12 0.15] ( 0.024 ) ~ 0.39
PN RHAER BER SEEIRED 12 0.24 0.1 ~ 0.47
KR AT RAET RAENRABD RERED 12 0.20 0.10 ~ 0.38
EER HEHEBR EEMBATAER FERED 12 0.21 0.14 ~ 0.31
EER HE MK HEATAER RERED 12 0.20 0.13 ~ 0.30
EER I BIFFR SEEIRED 12 0.32 0.13 ~ 0.78
EER = BRTES RERED 20| 16 0.16 ~ 7.2
Z=RE RFABLLT ABILERFNF KIS FERED 12 0.42 0.20 ~ 0.64
AT HE™ HFEMTHSARER RERED 12 0.10[ ( < 0.008 ) ~ 0.38
BiRR T TEMHED FERED 12 0.12 0.073 ~ 0.16
FE LR EITEHE RIRE/NER RERED 12 0.16 0.095 ~ 0.29
LR BEm LR SEEIRED 12 0.25 0.1 ~ 0.50
FE LR e EEL] RERED 12 0.21 0.088 ~ 0.44
LR BEm BER SEEIRED 12 0.28 0.14 ~ 0.54
FE LR e ZERYHE RERED 12 0.19 0.083 ~ 0.44
fE LR EFHH BEXKEER SEERED 12 0.12] ( < 0.04 ) ~ 0.31
FEl LR AL EEARAER RERED 12 0.083] ( < 0.023 ) ~ 0.20
L8R LEEHEX [CEEES SEEIRED 12 0.18 0.10 ~ 0.28
LEBR A BRNERBD RERED 12 0.18 0.088 ~ 0.38
LEBR R™ MREER SEEIRED 11 0.1 0.036 ~ 0.19
LEBR A AimRAER RERED 12 0.37 0.053 ~ 0.78
LEBR R EEHET EEEE] SEERED 12 0.12 0.048 ~ 0.20
LY DT AiRB RERED 12 0.34 0.067 ~ 0.93
BER HREr AR L BET EER SEEIRED 12 0.23 0.067 ~ 0.44
FINR T BEBR RERED 12 0.28 0.11 ~ 0.74
EIEY &I BE ST EERRIER SEEIRED 12 0.22 0.1 ~ 0.38
EIER HEET RPREARKAT RERED 12 0.093] ( < 0.008 ) ~ 0.34
1akE IR JEAMTERE BB FERED 12 0.14 0.067 ~ 0.22
2[R dammnERER  [dRAMNREE RERED 12 0.16 0.068 ~ 0.25
R HEM B RBYEREA— SEEIRED 12 (0.080) 0.034 ~ (< 0.22
RIGE RS THEEE RERED 12 0.20[ ( < 0.03 ) ~ 0.38
KR Ao ZENPRAIER FERED 12 0.15 0.090 ~ 0.24
KR HEm FRELHARE RERED 12 011 ( < 0.015 ) ~ 0.21
ECL] B LEEEEHR SEEIRED 12 0.14 0.069 ~ 0.21
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dbimE AR R RE E1%&E8#B RiE 12 0.22| ( < 0.014 ) ~ 0.64
JtimE NG RH#HB i 12 0.12 0.069 ~ 0.30
dbimE Frm JIFERIER RiE 12 0.17 0.096 ~ 0.27
EFR —MBh —Bm=RER RE 11 0.14 0.1 ~ 0.18
=EHE & HERE HER RiE 12 0.22 0.055 ~ 0.48
EHE iEmRE BER e 4 0.11 0.069 ~ 0.13
EHE £Eh EREBHEHFHITRAER E 12 0.14] ( < 0.003 ) ~ 0.22
HER HwEH HEFEHR e 12 0.12 0.075 ~ 0.30
FHE i TiERHE RiE 12 0.14] ( < 0.028 ) ~ 0.48
WAR AT TR ERB i 12 0.16 ( 0.10 ) ~ 0.22
BER Eiibn FREEHR E 6 0.18 0.14 ~ 0.24
BER SWVEFHAR ZHEEHIER e 12 0.18 0.078 ~ 0.49
BER i EMHEEEHB i 12 0.17 0.12 ~ 0.24
BER FEf FHEZABHR il 12 0.21 0.13 ~ 0.31
FER FEHHREX FERKA (BH) E 12 0.17| ( < 0012 ) ~ 0.38
FER FEHERIK BEHRAEBHEHHTA E 12 0.14] ( < 0012 ) ~ 0.40
HRH FHRERX BEARERAER E 12 0.26 0.092 ~ 0.43
FRER IRK REEBREFR e 12 0.21] ( 0.11 ) ~ 0.51
HERH AHER BLEMEEESEHIZAER RiE 12 0.21 0.063 ~ 0.33
HRE HEARRX B/\ED/\WEILF E 12 0.19| ( 0.09 ) ~ 0.37
BRINE |BETERFR BFXEER E 12 0.15 0.093 ~ 0.29
#/EINR  |[EEHFEZEX FEREXRXERB RE 12 0.16 0.099 ~ 0.29
#MENE s )EX M ERIER E 12 0.20] ( 0.11 ) ~ 0.30
#RINE  |FEH HMENERB e 12 0.20 0.12 ~ 0.31
FRE FRHEX BiRE i 12 (0.12) 0.085 ~ 0.16
FiRR RETH HE BB e 12 0.13] ( 0.038 ) ~ 0.27
AR Frmh FahAER RiE 6 0.16] ( < 0.06 ) ~ 0.48
BHE 'HH BHHEHB RE 12 0.17 0.14 ~ 0.22
e B RF EFEBEEIRAB E 12 0.14] ( < 0.011 ) ~ 0.29
WRER s ESEBHEHFIRBD i 12 0.17| ( < 0011 ) ~ 0.75
EHE EHH SREAR i 12 0.75| ( < 0.09 ) ~ 15
RER AT WERERERB i 12 0.34 0.22 ~ 0.52
FfER ERfE T AKX BHHBRER RiE 12 0.12 0.083 ~ 0.17
ERRE2 SEMTIRR R-257IE B E 12 0.15 ( 0.09 ) ~ 0.26
EfER =B BHZER E 12 0.19| ( 0.08 ) ~ 0.36
EHMR ZEEHIEX ETFKERILEEMB E 12 0.37 0.21 ~ 0.62
ZHE EHETER AEETERERGS E 12 0.26 0.17 ~ 0.46
EHME 215t SR i 12 0.28 ( 0.06 ) ~ 0.71
BEHME &g i BisH A FEXKBER i 12 0.14 0.076 ~ 0.25
EHMR flR FRRHEAD i 12 0.11 0.079 ~ 0.15
EHME SEEERE REEBHEHIUER i 12 0.13 0.053 ~ 0.20
=58 RET E 8235 8k B 12 0.18 0.10 ~ 0.30
HER Hizmh BHERR E 12 0.14f ( 0.07 ) ~ 0.24
KBRAF BRHRX FRERB RE 12 0.25 0.10 ~ 0.41
KBRAF WA WA SHHFB E 12 0.17 0.087 ~ 0.30
KIRAF J\E AFER E 12 0.20 0.088 ~ 0.36
KBRAF FKRBrH BRGERECVI-R RiE 12 0.34 0.20 ~ 0.58
KIRAF o ERERGERRAER e 12 0.20 0.093 ~ 0.31
EER HMETREX HEEBHENEH i 12 0.23 0.15 ~ 0.46
EER HEHEKR BKEBEINER g 12 0.23 0.13 ~ 0.38
EER wEm b o] E 12 0.18 0.093 ~ 0.38
EER EEm I ER e 12 0.74 0.19 ~ 5.3
=RE BRT BHEBRR E 12 0.091| ( < 0.020 ) ~ 0.24
FMIUER  |EdHE FREHIHE A H AR i 12 0.16) ( < 0.008 ) ~ 0.62
BRE BEH RORERBD E 12 0.20 0.12 ~ 0.29
BHR KFH KF BB e 12 0.19 0.12 ~ 0.30
SRE WTH FEEEEHR RiE 12 0.098 0.059 ~ 0.13
FEl LR EER R BET REXRKBER E 12 0.11] ( < 0.023 ) ~ 0.29
LER KEMRERX SRBIER E 12 0.20 0.10 ~ 0.43
LR ZRM ZREHER RE 12 0.1 0.058 ~ 0.20
EER mem BHESR E 12 0.25 0.095 ~ 0.42
BAR mah FHILETS e 5 0.13 0.046 ~ 0.33
1ERE JEAMT/\BRE | FEARTAIERT RiE 12 0.16 0.069 ~ 0.26
1aRE R BEHEREK FEHE e 5 0.13 0.098 ~ 0.15
1ERE I B E & EEEHR E 12 (0.098) 0.036 ~ ( 0.32
EER EEH EER i 12 0.11 0.054 ~ 0.26
RIBE RIGH RBHHRBEBHEHFHIVIER i 6 0.14 0.054 ~ 0.24
RIBR {EtHRT BRAER i 12 0.24| ( 0.05 ) ~ 0.38
AR AT IKEHT B RiE 12 0.12 0.074 ~ 0.21
EAR REXT HKAH B RE 12 0.1 0.077 ~ 0.18
P BIRFTH JLER#@RYTi5 E 12 0.17| ( < 0.015 ) ~ 0.62
ERER |EEIINT EENINB e 6 0.14 0.098 ~ 0.22
ERER |WBRW BE E 6 0.1 0.072 ~ 0.14
PR e HTER i 12 0.12| ( 0.070 ) ~ 0.26
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